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2. ofLHd = O =07 of4Ee| ¥ = HIFAILR? (Tof 16: )

3. OIS QPAM 9f osAtErE & shdg47t? (Hist 17: )

4. O A=A Lep7p Z2Agshz|at 2230 29 MBRSH7? (Tish 17 )

5. {2 ASlO| Ol ARt F Ofgdh AEel ZES efRE 23 & If A AAEL= = HE
qAS o= e XL Jo 2! AR = SUY7? (Cfst 18 )
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=02 T2 FAYY? (Hst 19: )

"ol ( JAHE &1 ( )E O¥st= A2 Aot 20| 2407t 15 ER o=
A 2EE Zlestdo] FoA sto|nt.”

7. oA G2 7|0 F2 LA HAMUSYI? (st 20: )

8. Lief7f B8 &= Z2& FAAtR? (st 20: )

9. F7F A= AEkE O[O FO| EUFH7? (Hist 21: )

10. {20 oA M4 2 °of5 HMgU7t? (Hst 21: )
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